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QUESTION NO: 1

The transport parameters for a TIBCO Administrator domain have been changed. Which two steps are now necessary? 
(Choose two.) 

A. All applications deployed in the domain should be redeployed. 

B. The Administrator Server and any secondary servers should be restarted. 

C. The Domain Hawk Agents on each machine in the domain should be restarted. 

D. The EAR file with the new transport parameters should be rebuilt. 

ANSWER: B C 

QUESTION NO: 2

Which two statements are true about recoverable process instances? (Choose two.) 

A. Manual engine recovery can only be done using TIBCO Administrator. 

B. Manual engine recovery can be done using TIBCO Hawk. 

C. Process instances that use sequencing cannot be recovered. 

D. Process instances with checkpoints can be recovered by the engine. 

ANSWER: B D 

QUESTION NO: 3

Which web server implementation is used by default in ActiveMatrix BusinessWorks? 

A. Jetty 

B. Tomcat 

C. JBoss 

D. GlassFish 
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ANSWER: B 

QUESTION NO: 4

You wish to insert an activity into an ActiveMatrix BusinessWorks process. Which TIBCO

Designer menu should you use? 

A. Project 

B. Resources 

C. Edit 

D. Palettes 

ANSWER: B 

QUESTION NO: 5

A solution must implement different integration logic based on an object type. Depending on the object type, different 
external systems and interfaces must be called. There are more than 50 object types in the system. Which type of activity 
contains the Process

Dynamic Override functionality required in this solution? 

A. Dispatch activity 

B. Call Process activity 

C. Null activity 

D. Java activity 

ANSWER: B 

QUESTION NO: 6

What is the purpose of transitions? 

A. to apply configurations on a per-activity basis 

B. to control the execution order of activities in a process 

C. to link multiple processes together 
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D. to bind activities that must be treated as a single task 

ANSWER: D 

QUESTION NO: 7

Which two statements are true about activities that support breakpoints? (Choose two.) 

A. The Start activity can have breakpoints before or after. 

B. The End activity can have breakpoints before or after. 

C. Job Starter activities can have breakpoints before or after. 

D. Any activity that waits for a message can have breakpoints before or after. 

E. Any activity that responds to a message can have breakpoints before or after. 

ANSWER: A C 

QUESTION NO: 8

Which four resources can be shared using the LibraryBuilder? (Choose four.) 

A. JMS Configuration 

B. PAR within an EAR

C. SAR within an EAR 

D. Identity 

E. SSL Certificate 

F. XSD Schema 

G. AAR within an EAR 

ANSWER: A D E F 

QUESTION NO: 9

Which three actions can be taken directly from the Project tab in the TIBCO Designer startup panel? (Choose three.) 
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A. Reopen Project 

B. Add Users to Project 

C. New Project From Template 

D. Validate Project 

E. New Empty Project 

F. Deploy Project 

ANSWER: A C E 

QUESTION NO: 10

The ServerTimeZone input for JDBC activities specifies the time zone where which component is running? 

A. EMS server 

B. TIBCO Administrator 

C. database 

D. engine 

ANSWER: C 
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